Filomat 26:6 (2012), 1227–1232 DOI 10.2298/FIL1206227E Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

Some generalized equalities for the *q*-gamma function

İnci Ege^a, Emrah Yýldýrým^b

^aDepartment of Mathematics, Faculty of Arts and Sciences, Adnan Menderes University 09010, Aydm-Turkey ^bDepartment of Mathematics, Faculty of Arts and Sciences, Adnan Menderes University 09010, Aydm-Turkey

Abstract. The *q*-analogue of the gamma function is defined by $\Gamma_q(x)$ for x > 0, 0 < q < 1. In this work the neutrix and neutrix limit are used to obtain some equalities of the *q*-gamma function for all real values of *x*.

1. Introduction and preliminaries

Since the *q*-gamma function is very important in the theory of the basic hypergeometric series, its applications is rather extensive in the literature [1, 3, 4, 6]. New equalities and inequalities for the *q*-gamma function is established by using its *q*-integral representations [3, 13, 14]. Recently, neutrix calculus, given by van der Corput [2], have been used widely in many applications in mathematics and physics. B. Fisher and Y. Kuribayashi applied the neutrix calculus to give some results on the classical Euler's gamma function [5]. A. Salem used the concepts of the neutrix and neutrix limit to define the *q*-analogue of the gamma and incomplete gamma function and their derivatives for negative values of *x* [11, 12]. Y. J. Ng and H. van Dam applied neutrix calculus to generalize some equations of the *q*-gamma function via the theory of neutrices.

A neutrix N is defined as a commutative additive group of functions $v(\xi)$ defined on a domain N' with values in an additive group N'', where further if for some v in N, $v(\xi) = \gamma$ for all $\xi \in N'$, then $\gamma = 0$. The functions in N are called negligible functions.

In this work, we let N be the neutrix having domain the open interval $N' = (0, (1 - q)^{-1})$ and range N'', the real numbers, with the negligible functions being finite linear sums of the functions

$$\epsilon^{\lambda} \ln^{r-1} \epsilon, \ln^{r} \epsilon, [\epsilon]_{a}^{\lambda} \qquad \lambda < 0, r = 1, 2, \dots$$

and all being functions $O(\epsilon)$ which converge to zero in the usual sense as ϵ tends to zero.

Let *N'* be a set contained in a topological space with a limit point *b* which does not belong to *N'*. If $f(\xi)$ is a function defined on *N'* with values in *N''* and it is possible to find a constant *c* such that $f(\xi) - c \in N$, then *c* is called the neutrix limit of *f* as ξ tends to *b* and we write N $-\lim_{\xi \to b} f(\xi) = c$. Note that if $f(\xi)$ tends to *c* in the normal sense as ξ tends to zero, it converges to *c* in the neutrix sense.

For any $x \in \mathbb{C}$ and $n \in \mathbb{N}$, the basic number $[x]_q$ and the *q*-factorial $[n]_q!$ are defined by

$$[x]_q = \frac{1-q^x}{1-q}$$

2010 Mathematics Subject Classification. Primary 05A30; Secondary 33D05, 33B15

Keywords. q-gamma function, neutrices, neutrix limit Received: 14 March 2012; Revised: 30 May 2012; Accepted: 02 June 2012

Communicated by Linkiza D.B. Kažinas

Communicated by Ljubiša D.R. Kočinac

Email addresses: iege@adu.edu.tr (İnci Ege), emrahyildirim@adu.edu.tr (Emrah Yýldýrým)

and

$$[n]_q! = \begin{cases} [1]_q[2]_q \dots [n]_q, & n = 1, 2, \dots \\ 1, & n = 0. \end{cases}$$

The *q*-analogue of the derivative of f(x), called its *q*-derivative, is given by

$$(D_q f)(x) = \frac{f(qx) - f(x)}{(q-1)x}$$
 if $x \neq 0$

and

$$(D_q f)(0) = f'(0)$$
 provided $f'(0)$ exists.

The *q*-integral is defined [9] by

$$\int_0^a f(x)d_q x = (1-q)\sum_{n=0}^\infty aq^n f(aq^n).$$

Notice that the series on the right-hand side is guaranteed to be convergent as soon as the function f is such that, for some C > 0, $\alpha > -1$, $|f(x)| < Cx^{\alpha}$ in a right neighborhood of x = 0. The formula of q-integration by parts is given for suitable functions f and g by

$$\int_a^b f(x)d_qg(x) = f(b)g(b) - f(a)g(a) - \int_a^b g(qx)d_qf(x).$$

The reader may find more on *q*-calculus and its applications in the books [1, 6, 10].

2. Definition of the *q*-gamma function

The *q*-analogue of Euler's gamma function $\Gamma(x)$ is defined by the *q*-integral representations [1, 6]

$$\Gamma_q(x) = \int_0^{\frac{1}{1-q}} t^{x-1} E_q^{-qt} d_q t = \int_0^{[\infty]_q} t^{x-1} E_q^{-qt} d_q, \quad x > 0$$
⁽¹⁾

where

$$E_q^x = \sum_{i=0}^{\infty} q^{i(i-1)/2} \frac{x^i}{[i]_q!} = (-(1-q)x;q)_{\infty}$$

is one of the important *q*-analogues of the classical exponential function and the *q*-derivative of E_q^x is $D_q E_q^x = E_q^{qx}$.

Note that $\Gamma_q(x)$ reduces to $\Gamma(x)$ in the limit $q \to 1$ and it satisfies the property that

$$\Gamma_a(x+1) = [x]_a \Gamma_a(x), \quad x > 0, \quad \Gamma_a(1) = 1.$$
⁽²⁾

In this work, we let N be the neutrix having domain the open interval $N' = (0, (1 - q)^{-1})$ and range $N'' = \mathbb{R}$, with the negligible functions being finite linear sums of the functions

$$\epsilon^{\lambda} \ln^{r-1} \epsilon, \ln^{r} \epsilon, \qquad \lambda < 0, r = 1, 2, \dots$$

and all being functions $O(\epsilon)$ which converge to zero in the usual sense as ϵ tends to zero.

The *q*-gamma function converges absolutely for all x > 0 due to the *q*-exponential function E_q^{-qt} . The omitting of the first *n* terms of the series of the *q*-exponential function allows one to extend the domain of

1228

convergence of the *q*-integral (1). Using this regularization technique, it has been shown in [11] that the *q*-gamma function is defined by the neutrix limit

$$\Gamma_{q}(x) = N_{\epsilon \to 0} \int_{\epsilon}^{\frac{1}{1-q}} t^{x-1} E_{q}^{-qt} d_{q}t = = \int_{0}^{\frac{1}{1-q}} t^{x-1} \Big[E_{q}^{-qt} - \sum_{i=0}^{n-1} \frac{(-1)^{i} q^{\frac{i(i+1)}{2}}}{[i]_{q}!} t^{i} \Big] d_{qt} + (1-q)^{1-x} \sum_{i=0}^{n-1} \frac{(-1)^{i} q^{\frac{i(i+1)}{2}}}{(q,q)_{i}(1-q^{i+x})}$$
(3)

for x > -n, $n = 1, 2, ..., x \neq 0, -1, -2, ..., -n + 1$, and

$$\Gamma_{q}(-n) = N_{\epsilon \to 0} \int_{\epsilon}^{\frac{1}{1-q}} t^{-n-1} E_{q}^{-qt} d_{q}t =$$

$$\int_{\epsilon}^{\frac{1}{1-q}} \int_{\epsilon}^{\frac{1}{1-q}} t^{-n-1} E_{q}^{-qt} d_{q}t =$$
(4)

$$= \int_{0}^{1-q} t^{-n-1} \Big[E_{q}^{-qt} - \sum_{i=0}^{n-1} \frac{(-1)^{i} q^{-i}}{[i]_{q}!} t^{i} \Big] d_{qt} + (1-q)^{n+1} \sum_{i=0}^{n-1} \frac{(-1)^{i} q^{\frac{i(i+1)}{2}}}{(q,q)_{i}(1-q^{i-n})} + \frac{(-1)^{n} q^{\frac{n(n+1)}{2}}(1-q)^{n+1} \ln(1-q)}{(q,q)_{n} \ln q}$$
(5)

for *n* = 1, 2,

3. Main results

Now, we use neutrix calculus as a tool for generalizing equation (2) and the *q*-analogue of Gauss duplication formula for all real numbers of *x*. Firstly, we need the following lemma. By the lemma, we will give an alternative equation for the function $\Gamma_q(x)$ for negative integer values of *x* with using the Heaviside's function H(x), which is equal to zero for x < 0 and to 1 for x > 0.

Lemma 3.1.

$$\Gamma_{q}(-n) = \int_{0}^{\frac{1}{1-q}} t^{-n-1} \Big[E_{q}^{-qt} - \sum_{i=0}^{n-1} \frac{(-1)^{i} q^{\frac{i(i+1)}{2}}}{[i]_{q}!} t^{i} - \frac{(-1)^{n} q^{\frac{n(n+1)}{2}}}{[n]_{q}!} t^{n} H(1-t) \Big] d_{q}t + (1-q)^{n+1} \sum_{i=0}^{n-1} \frac{(-1)^{i} q^{\frac{i(i+1)}{2}}}{(q,q)_{i}(1-q^{i-n})}$$
(6)

for n = 0, 1, 2, ...

Proof. We have

$$\begin{split} \int_{\epsilon}^{\frac{1}{1-q}} t^{-n-1} E_{q}^{-qt} d_{q}t &= \int_{\epsilon}^{\frac{1}{1-q}} t^{-n-1} \Big[E_{q}^{-qt} - \sum_{i=0}^{n-1} \frac{(-1)^{i} q^{\frac{i(i+1)}{2}}}{[i]_{q}!} t^{i} - \frac{(-1)^{n} q^{\frac{n(n+1)}{2}}}{[n]_{q}!} t^{n} H(1-t) \Big] d_{q}t + \\ &+ \sum_{i=0}^{n-1} \frac{(-1)^{i} q^{\frac{i(i+1)}{2}}}{[i]_{q}!} \int_{\epsilon}^{\frac{1}{1-q}} t^{-n+i-1} d_{q}t + \frac{(-1)^{n} q^{\frac{n(n+1)}{2}}}{[n]_{q}!} \int_{\epsilon}^{1} t^{-1} d_{q}t = \\ &= \int_{\epsilon}^{\frac{1}{1-q}} t^{-n-1} \Big[E_{q}^{-qt} - \sum_{i=0}^{n-1} \frac{(-1)^{i} q^{\frac{i(i+1)}{2}}}{[i]_{q}!} t^{i} - \frac{(-1)^{n} q^{\frac{n(n+1)}{2}}}{[n]_{q}!} t^{n} H(1-t) \Big] d_{q}t + \\ &+ \sum_{i=0}^{n-1} \frac{(-1)^{i} q^{\frac{i(i+1)}{2}}}{[i]_{q}![i-n]_{q}} \Big[(1-q)^{n-i} - \epsilon^{i-n} \Big] - \frac{(-1)^{n} q^{\frac{n(n+1)}{2}}}{[n]_{q}! \ln q} \ln \epsilon. \end{split}$$

Now, taking the neutrix limit of both sides of the last equation as ϵ tends to 0 and using the equation (4) we get the desired result. \Box

We can now prove the following theorem.

Theorem 3.2.

$$\Gamma_q(x) = \operatorname{N-lim}_{\epsilon \to 0} \Gamma_q(x + \epsilon)$$

for all x.

Proof. Since $\Gamma_q(x)$ is a continuous function for $x \neq 0, -1, -2, ...$ its neutrix limit becomes normal limit as ϵ tends to zero and the result follows for $x \neq 0, -1, -2, ...$ Now we will consider $\Gamma_q(x)$ at the point x = -n, n = 1, 2, ... For $0 < \epsilon < 1$, we have from equation (3) that

$$\begin{split} \Gamma_q(-n+\epsilon) &= \int_0^{\frac{1}{1-q}} t^{-n+\epsilon-1} \Big[E_q^{-qt} - \sum_{i=0}^{n-1} \frac{(-1)^i q^{\frac{i(i+1)}{2}}}{[i]_q!} t^i \Big] d_q t + (1-q)^{n-\epsilon+1} \sum_{i=0}^{n-1} \frac{(-1)^i q^{\frac{i(i+1)}{2}}}{(q,q)_i (1-q^{i-n+\epsilon})} = \\ &= \int_0^{\frac{1}{1-q}} t^{-n+\epsilon-1} \Big[E_q^{-qt} - \sum_{i=0}^{n-1} \frac{(-1)^i q^{\frac{i(i+1)}{2}}}{[i]_q!} t^i - \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{[n]_q!} t^n H(1-t) \Big] d_q t + \\ &+ \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{[n]_q!} \int_0^1 t^{\epsilon-1} d_q t + (1-q)^{n-\epsilon+1} \sum_{i=0}^{n-1} \frac{(-1)^i q^{\frac{i(i+1)}{2}}}{(q,q)_i (1-q^{i-n+\epsilon})}. \end{split}$$

Now recalling that the neutrix is given in the section 1 and also the property that the neutrix limit is unique and its precisely the same as the ordinary limit, if it exists, we write

$$\begin{split} N_{\epsilon \to 0}^{-} & \prod_{q \to 0} \Gamma_q(-n+\epsilon) &= \int_0^{\frac{1}{1-q}} t^{-n-1} \Big[E_q^{-qt} - \sum_{i=0}^{n-1} \frac{(-1)^i q^{\frac{i(i+1)}{2}}}{[i]_q!} t^i - \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{[n]_q} t^n H(1-t) \Big] d_q t + \sum_{i=0}^{n-1} \frac{(-1)^i q^{\frac{i(i+1)}{2}}}{(q,q)_i (1-q^{i-n})} = \\ &= \Gamma_q(-n) \end{split}$$

by using the lemma 3.1.

On the other hand for $0 < \epsilon < 1$, we have from equation (3) that

$$\begin{split} \Gamma_q(-n-\epsilon) &= \int_0^{\frac{1}{1-q}} t^{-n-\epsilon-1} \Big[E_q^{-qt} - \sum_{i=0}^n \frac{(-1)^i q^{\frac{i(i+1)}{2}}}{[i]_q!} t^i \Big] d_q t + (1-q)^{n+\epsilon+1} \sum_{i=0}^n \frac{(-1)^i q^{\frac{i(i+1)}{2}}}{(q,q)_i (1-q^{i-n-\epsilon})} = \\ &= \int_0^{\frac{1}{1-q}} t^{-n-\epsilon-1} \Big[E_q^{-qt} - \sum_{i=0}^{n-1} \frac{(-1)^i q^{\frac{i(i+1)}{2}}}{[i]_q!} t^i - \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{[n]_q!} t^n H(1-t) \Big] d_q t - \\ &- \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{[n]_q!} \int_1^{\frac{1}{1-q}} t^{-\epsilon-1} d_q t + \sum_{i=0}^{n-1} \frac{(-1)^i q^{\frac{i(i+1)}{2}}}{[i]_q!} \frac{(1-q)^{n-i+\epsilon}}{[-n-\epsilon+i]_q} + \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{[n]_q!} \frac{(1-q)^{\epsilon}}{[-\epsilon]_q}. \end{split}$$

Now taking the neutrix limit of both sides of the equation, using the lemma 3.1 and the fact that $[-\epsilon]_q = -q^{-\epsilon}[\epsilon]_q$, the result follows. \Box

We know that equation (2) holds for x > 0. The following theorem does however hold.

Theorem 3.3.

$$\Gamma_q(x+1) = \mathop{\rm N-lim}_{\epsilon\to 0} [x+\epsilon]_q \Gamma_q(x+\epsilon)$$

for all x.

1230

Proof. The result can easily be obtained because of the continuity of $\Gamma_q(x)$ for $x \neq 0, -1, -2, ...$ Now we will consider $\Gamma_q(-n)$. For $0 < \epsilon < 1$, we can write by the definition of $\Gamma_q(x)$ given in the equation (3) that

$$\Gamma_q(x+\epsilon+1) = \operatorname{N-lim}_{\delta \to 0} \int_{\delta}^{\frac{1}{1-q}} t^{x+\epsilon} E_q^{-qt} d_q t.$$

Then using the *q*-integration by parts, we have

$$\Gamma_q(x+\epsilon+1) = \operatorname{N-lim}_{\delta \to 0} \Big[(1-q)^{-x-\epsilon} E_q^{-(1-q)^{-1}} + \delta^{x+\epsilon} E_q^{-\delta} + [x+\epsilon]_q \int_{\delta}^{\frac{1}{1-q}} t^{x+\epsilon-1} E_q^{-qt} d_q t \Big].$$

Since

$$E_q^{-(1-q)^{-1}} = ((1-q)(1-q)^{-1};q)_{\infty} = (1;q)_{\infty} = 0$$

and $\delta^{x+\epsilon} E_q^{-\delta}$ is a negligible function we have

$$\begin{split} \Gamma_q(x+\epsilon+1) &= \operatorname{N-lim}_{\delta\to 0}[x+\epsilon]_q \int_{\delta}^{\frac{1}{1-q}} t^{x+\epsilon-1} E_q^{-qt} d_q t = \\ &= [x+\epsilon]_q \Gamma_q(x+\epsilon). \end{split}$$

Then using theorem 3.2 we get

$$\begin{split} \underset{\epsilon \to 0}{\operatorname{N-lim}} \Gamma_q(x + \epsilon + 1) &= \operatorname{N-lim}_{\epsilon \to 0} [x + \epsilon]_q \Gamma_q(x + \epsilon) = \\ &= \Gamma_q(x + 1), \end{split}$$

completing the proof of the theorem. \Box

The Gauss multiplication formula has *q*-analogue of the form

$$\Gamma_q(nx)\Gamma_r(\frac{1}{n})\Gamma_r(\frac{2}{n})\dots\Gamma_r(\frac{n-1}{n}) = (1+q\dots+q^{n-1})^{nx-1}\Gamma_r(x)\Gamma_r(x+\frac{1}{n})\dots\Gamma_r(x+\frac{n-1}{n})$$
(7)

with $r = q^{n}$, [6].

Now as an application of theorem 3.3, we will generalize formula (7) for all *x*.

Theorem 3.4.

$$\Gamma_q(nx)\Gamma_r(\frac{1}{n})\Gamma_r(\frac{2}{n})\dots\Gamma_r(\frac{n-1}{n}) = N-\lim_{\epsilon \to 0} (1+q\dots+q^{n-1})^{nx+n\epsilon-1}\Gamma_r(x+\epsilon)\Gamma_r(x+\epsilon+\frac{1}{n})\dots\Gamma_r(x+\epsilon+\frac{n-1}{n})$$

for all x.

Proof. Since $\Gamma_q(nx)$ is a continuous function for the values $nx \neq 0, -1, -2, ...$ the result follows immediately for $nx \neq 0, -1, -2, ...$ For the case nx = -m, m = 1, 2, ... we have by equation (7) for $0 < |\epsilon| < \frac{1}{n}$ that

$$(1+q\ldots+q^{n-1})^{-m+n\varepsilon-1}\Gamma_r(\frac{-m}{n}+\varepsilon)\ldots\Gamma_r(\frac{-m}{n}+\varepsilon+\frac{n-1}{n})=\Gamma_q(-m+n\varepsilon)\Gamma_r(\frac{1}{n})\ldots\Gamma_r(\frac{n-1}{n}).$$

Then by using theorem 3.2 we have

$$\begin{split} N_{\epsilon \to 0}^{-\lim}(1+q\ldots+q^{n-1})^{-m+n\epsilon-1}\Gamma_r(\frac{-m}{n}+\epsilon)\ldots\Gamma_r(\frac{-m}{n}+\epsilon+\frac{n-1}{n}) &= \Gamma_r(\frac{1}{n})\ldots\Gamma_r(\frac{n-1}{n})N_{\epsilon \to 0}^{-\lim}\Gamma_q(-m+n\epsilon) = \\ &= \Gamma_r(\frac{1}{n})\ldots\Gamma_r(\frac{n-1}{n})\Gamma_q(-m). \end{split}$$

Hence the proof is complete. \Box

References

- G.E. Andrews, R. Askey, R. Roy, Special functions, Encyclopedia of Mathematics and its Applications, Vol.1, Cambridge University Press, Cambridge, 1999.
- [2] J.G. van der Corput, Introduction to the neutrix calculus, J. Analyse Math. 7 (1959) 291–398.
- [3] R. Diaz, C. Teruel, q.k-generalized gamma and beta functions, Journal of Nonlinear Mathematical Physics 12 (2005) 118–134.
- [4] H. Exton, q-hypergeometric functions and applications, Ellis Horwood Series in Mathematics and its Applications, Ellis Horwood Ltd., Chichester, 1983.
- [5] B. Fisher, Y. Kuribayashi, Some results on the gamma function, The Journal of Faculty of Education Tottori University 37:2 (1988).
- [6] G. Gasper, M. Rahman, Basic hypergeometric series, Vol. 35 of Encyclopedia of Mathematics and Applications, Cambridge University Press, Cambridge, 2004.
- [7] Y. Jack Ng, H. van Dam, Neutrix Calculus and Finite Quantum Field Theory, J. Phys., A. 38 (2005), 317–323.
- [8] Y. Jack Ng, H. van Dam, An application of neutrix calculus to Quantum Field Theory, Internat. J. Modern Phys. A21 (2) (2006) 297–312.
- [9] F.H. Jackson, On q-definite integrals, Quart. J. Pure and Applied Math. 41 (1910) 193–203.
- [10] V. Kac, P. Cheung, Quantum Calculus, Universitext, Springer-Verlag, New York, 2002.
- [11] A. Salem, The neutrix limit of the *q*-Gamma function and its derivatives, Applied Mathematics Letters 23 (2010) 1262–1268.
- [12] A. Salem, Existence of the neutrix limit of the *q*-analogue of the incomplete gamma function and its derivatives, Applied Mathematics Letters 25 (2012) 363–368.
- [13] M. Sellami, K. Brahim, N. Bettaibi, New inequalities for some special and *q*-special functions, J. Inequalities in Pure and Applied Math. 8 (2) (2007), Art. 47, 7 pp.
- [14] A. Sole, V.G. Kac, On integral representations of q-gamma and q-beta functions, Rend. Mat. Acc. Lincei 9 (2005) 11–29.